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1. Calculate the following limits: a
e following limits :
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2. Use the definition of the derivative to find f7x) when f{x) = 3x*> — 5x + 2.
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3. Give adelta;epsﬂon argument that 11m5x 7=3.
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4, Tellwhy f(x)= lx - 25! is not differentiable at x = 5 but is contmuous there
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Calculate % for the following:
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Use a linear afproxunatlon to estlmate 125 3
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Find the equation of the tangent lme to the curve y = 5x* —3x" at (1,2).
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A ladder 20 ft long rests against a vertical wall. If the bottom of the ladder slides away from the v

wall at a rate of 2 ft/sec, how fast is the top of the ladder sliding down the wall when the bottom )
of the ladder is 12 ft from the wa11‘7 \
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What are the dimensions of a box of maximum volume if the surface are is to be 18 square feet,
the base is square, and the top is open? ‘% -y
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For f(x)=x"-8x*-48

a. Calculate the first and second derivative of f{x).
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b. Find the mtervais where f(x) i is mcrea(smg d decreasing.
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c¢. ~ Find the mterva)s where f(x) i 1s co up and concave Wi
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d. Ident1233 the local max‘lmum, local minimum, and inflection points.

,QQ\M Lauﬂuwwalckf—t?-?-

Y=o %

e i

€. Find the x- and y-intercepts of y f(x)
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f Sketch the graph of y = f{x).
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12. | Use Newton s Method to find the next guess for the sol
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13.  Find the aﬁa fromx=1tox= 3 between the x-axis and the curve y = 6x* +x.
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14.  Evaluate the Riemann Sum for f(x) = 10 +2, 5 < x <13, with four subintervals, taking the
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Find ff&x) if /) = x* + 2x and {0) = 2 and f"(0) = 1. '
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16. Find the average Value of fix) =x +x>on [0 2]. @3
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17. a. Calculate the area between the curves y = (x — 2)(x — 5) and y = 2(5 - x).
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D \5 b. Rotate the area in (@) about the y—aXIS and give the integral that determines the value
Do not evaluate the integral.
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@ ¢.  Rotate the area in (a) about the x-axis and give the integral that determines the value.
‘O : Do not evaluate the integral.
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0 EJ;IlTa Credit: A cone with a base of radius 6 Jeet and height 15 feet is filled with water

(62.5 lbs/cubic foot). How much work is required to pump the water out the top of the
cone?
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